Technical Datasheet 06.07.24 - 04:27 Qaliaxis

Stainless steel bolt

Stainless steel A2 screw.

i! ¢ ihrrRReh

PR R RN YT

= 100 =

031112 M6 X 65

031M13 - 100 M6 X 45 -

031114 = 100 M6 X 35 =

031M9 - 10 M6 X 35 Chrome
031121 = 10 M6 X 45 Chrome
031123 - 10 M6 X 65 Chrome
031168 = 100 M6 X100 =

datasheet_footer_jimten a I iGXis



